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Kilowatt-hour is & unijt of
l) ) 'l‘
(1) power 2‘3 a’lergy (3) curre e N
5 : A7) curreat 4} voitago EIANT
WorChias the same dimerisions as - - . ) e (9 time.
1y
Ujenergy 1. (2) force.. (3) momentum.  (4) power,

| {5) impulse.
The ratio ar-.:cun‘t of heat required to raise the temperature of a body by 1°C.. | '
amount of heat required to raisc the {emperature of the same body by I K.

takes tiie value, . ' . ' .
o | @ o 'ra} 3 2 L
: ’ : 9 ~ 4 373 ' "5). 273

- Which of tiie foilowing curves best represents the variation of temperature (£ with the heat suppiied (Q) to

a Isubsianr.c which un .-.crgaes a change of state at a ngn pressure 7

|t AI/;
Q __:%} gl
;1\ {2\ g ,3) (4\ . 5) Q .
When i:]w kinetic enct gy of an object is cnm ed the factor by which its r:omentun will be changc" is,
& 1 : : 1 "
- (lJ - @ = & [ @ 2 ¢ 4
5 | (2) I « Jz | ) 2 )
A light -year is ec;ut-'a!ent to, ( the velocity of Light =3 x 10%ms™) " |
(1} 8 x 10° x'365x 24 % 3.6km (2) '3 x10° x 365 x 24 x 3 800 km
(3) Br‘iD‘"xﬂESxﬂﬂhm' SR Bﬁﬁxzdxaﬁs '

(5) 365 x 24 x 36005
A 1.0 m wire has a mass of 0.01 kg ‘and | is he d under a tension of 100 M. The va!oc'ty of transverse
waves on the wire is | :

(I 100ms™ (2 loms"' E) Fﬁms-" -.'?-}' Fﬁms' (3) Jﬁms

The battery in the cirtuit shown has 2 negligible internal resisiance. The 40
" " - i - . L * ° &w—-——
power dissipated in the 1 §2 resistor is . . - 12

I oy 4 . 40
1 - @ —w - @) 1%
O gw @ gwo@w
: ' I ' ¥ ' ’ ||_3v
. | .

The dimensions of r;ﬁgnetec flux ums:ty when explrssad n trm s of dimensions, mass (i\f’) length (L)
time, (T), a?id r.:urrer't His -

1y MLIT? | @) ML - (3) M'LIT @ Mt (5 MLIT

16. Which of the fol Iowng graphs best represarts the' variation of density (_9 ) of water with temperature (t)
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A closed vessel contains an ideal gas at pres:.ure P. The root mean square velocity of the gas molccules is
proportionai to I ,
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Which cf the following graphs correctly represents Boyle's law 7

() /"K f““’ﬁ \__,,

o) (2)

The speed (v) - time (1) curves of two similar private buses P and Q
overloaded with passengers are shown in the figure. CABD represents the
v - t curve for the bus P, and OACD represents the v-t curve for the bus

Q. consider the folmwmg statements.

(A) Retardation of bus p is greater than that af'l:us Q..

(B) Both buses have travelled equal distances curing the journey.

(C) Standing passengers in' bus Q feel more uncomfortabie than
those in p during the journey. _
Of the above statements, :
(13 Oniy (A)istrue. {2) Only (B) is true. (3) Only {A) and (B) are true.
(4) Cnly (B} and (C) are true. (5) ali (A), () and (C) are true.

: A car and a bus stop at a red light signai. The car is 100 m behind the bus. then the light turns green, the
car accelerates with 6 ms™ and at the same tlmc the bus accelerates with 4 ms Car will tvertake the bus

after , L
(1) 45 ' (2 65 (3) Bs {4) 10s . {5) 12s

. A bar AE is suspended is a horizontai posmoﬁ by two light cords as shown r *he figure, The pos.tmn 1;

the centre uf gravity of the bar is at

(1) A. 2B (3 C 4y D. (5) E.
Which of the follo'mng graphis best represents thc variation ci!‘ the veloclty v) 4 3% .
with time (t} of a metal ball fa ling through water in'a deep lak o R iy

) etV

A loop of thead is placed dfa li uid film.(3When' the portion of ‘the fil rﬂ}i _
inside the loop is removed its shape becomes circular with radius R as shown . |
in the figure. If the surface tension uf the 1 1qu[d is T, the tension of the thread !
is gl\"“l" Y- ) . I
(13 2rrTR. . (2). 4TR. 3 ?TTR 4 2 T - R 1|

Two thin ienses of focal length f, and f, are in contact. The focai fength f of the{lens combination is given

® (1) f:fﬂ;‘_’.ﬁ-_ @ 7=4h B 5= B4 . @) f.-f—?— 5 f=fith

fi+h )1
" 1e ymage of an sbject placed betwr-n the centre of curvature and the focus of :i concave mirzor is
(1) erect, real with magnification > 1, - {2) Inverted, real with magnification > .

(3) erect, virtual with magnification < L@ f.nvened,' virtual with magnification < 1.
{5) inverted, real with magnification < i. o

"'Ine wavelength of yellow sodium light m air is ‘F{] X 10 m. Its frcquenl cy is ( velocity of light in

a=""3x‘0 "rs‘

a1 1.7x16" Hz. @) 2.0x10" Hz.  (3) 40x10 Hz. ( 4 )|
6.0x10" Hz. (5) 8.0x10" Hz , i
The figure shows four thin ienses A, B, C and D whlch of the above '

lens/lenses can be used to converge parailel light 7

m A Oniy (2) A and C Only (3} B and C Only

(4) B,CandDOnly (5) A, CandD Only — g
Figure shows an instant shape of a part of a transverse wave on & stretched ~ E
string travelling to the right. At which point/ points of the wave is the string - . o
momentarily 2t rese ¥ a - C

(1) C Only (2) B and D Only (3) A and E Only : D

(4) A,CandE Only: (5): none of the above points.
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i Consider the following strlltcmcnts made about : i
. p . travel

string. ) J ling waves and standing waves formed on a stretched
. ‘in a travelli ",

((g}} ;2 a stn;;ir:ngv.: e faCh particle of the string vibrates with the same amplitude

nding wave all particles of the string vibrate with the frequer )
(C) Ir a standing waVe amplitude is difTerent for diff he same frequency.
Of the above statements ! at for different particles in the string.

(i) Only (C) is lruc.L' (2) Only (A d ! : (
. (4) Only (B) and (C) are true.  (5) I;f ({A)) (Bt;n:nﬁ:?r:rﬁ:ﬁe. 33 Only (8) 364 (C) e .

4.) Two |i!cgtlca¢ batteries with negligible intena! resistances are .. H e '
;.:Bcnne_;*.1 ed to an external I'Vs:strmice R as shown in figures {A) and ; & 1 '
(B). The relationship betiveen the currents through resistor R in i ; |
- 'J
. : I
— LR
A
B

circuits A and B can be represented as N
m i=2i - @) i=1i @) i = 2i

@4 =02 i "_' &) i, =07 i | . A

i. A current of 2A passes tllrough a cell containing a solution of copper sul

: rougl piate. Time taken to deposit
0.0i Kg of copper {clcctra&ﬁemlcal equivalent of copper = 3.3x107 Kg C)'is Co o P

? . ™~ - .
(D). 001 x10 ¢ |-, (2) 0.01 x 3.3x 1-:.1?5 () 001x2x33x10" s
2x33 | 2 . '
. (4) 0.01x2 x 101 (5) 2x33x107 " - . E R .
33 oL N i a2 e
Ar arrangement to determine the em.f. E, of a cell by potentiometer I_ . ' —l
method is shown in the figure. To increase the baiance length = * . - A e . - B
(B _fif:'scrca;e R anq increase E.- (2) ‘descrease R keeping E same. | __ | _ﬁ : :
(3) increase E keepmlg R same. .(4) increase R keeping E same. . "F., ©2MF - -
- (5) decrease the diameter of the potentiometer wire, A .
7 When a potential differencg of 300 V is applied across AB of the circuit - - — B
“/ shown, electrical energy stored in the system is - - . , "_ -
() 6x10%J. - (2)79x107L  (3) 18x107J S o e
@ 271070 (5) S4x1073 o , S e
ectively and the Universal Grevitationa! Constant

- If the mass and the radius of the earth are M and R res
is G. then the acceleration due to gravity at 2 height ! from. the

earth surface is

1y GM 2y _GM 3y GM" (g _GM ~_GM.

A spherical droplet.of mercury of radius. R has a capacitance. ' o '
- @ : 3 L 4 L . W
(1) 4 me,R @ 4mr - O 5 ()-Mm. | &) rwex

Fgmciable lenght

to heat its bottom surface. In a faulty electric iron ar a
is removed ana

" An eiectric iron heating coil
‘c?f tﬁfﬂéﬁin?r::oi:is}gai?ou@lgd to, be damaged (burat). If the damaged portion of the coi
the rest is used to heat the seme iromn, ) .

(1) it will work normally. (2} it will produce less heat but the iron will have a longer iife time.

“ - (3) it will work for a Short time and the coil will burn again, . (4) it wiil have & smaller watiage.

(5} it will draw a small current. o
The sensitivity of a liquid-in-glass thermometer can be increased by
(A) increasing the length of the capiilary of the thermometer.
(B) increasing the internal radius of the capillary of the thermometer.

(C) increasing the volume of the liquld buib ofthe thermometer. -

Of the above statements. . _ _ ' . .
_(1) Only (A) is true. {2) Cnly (B) is true.(C) (3) Only (C) is true. (4) Only {A) anc (B) are true.
(5) Only (A) and (C) arg true. PR ¢ the relative humidi R}i iht time ¢

. i : ' iati 1e refative humidi wikt tim
Which one of the following curves best represenﬁﬂ%ﬁﬂr&nﬁ#{: nw?th time ¢ ;_i.e. curve B) of air inside a -

.(i.e. curve A), anc the variation of the absolute ;
irst time?

closed empty refrigerator in a Sri Lankan home which is switched on for the
alt RII A AH RI! 1;"‘:" .su-a‘i\u-a
. —
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33,

14,
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364 A horizontal force of 12 N pushes 2 block weighing 5 N against a rough vertica! wail as 2N I
——i\.- 5

37.

39.

40.

42.

43.

E s ! ' ﬂ
A vesf'e,' with a smal!l opening contains an idea! gas at 27°C and at'| atfnGSPh' re. To what temperature -
must this vessel be heated to drive out one fifth of the molecules originally present in the vessei 7
(Neglect Iheecxpansion of the vessel). ' ‘
(1y 87°C @) .102°C (3) 135°C (4) 375°C () 1227°C. D

When a certain mass is sus ly I ing it i d Y istang Th i
\ a pended I'r!:e y from a spring il is exten ed by o distante L. The sprin is now ci
into two hzlves and the same mass is 555!}cndcu fl‘cc})’ from one of the haives. (The new FE,KT.E%IS:IOP of :']:;
. , 1 -

spring wili be _ . .
2 2 1 @ = @ ._f.’.. | ® _; U

{s:uti?:éi‘fr the fnl;?wmg statements made by a sluderllt mg;rdmg tiie angle of clranigal:t of a liquid with a D
(A) In a capillary tube liquid will have 2 higher capillary rise if its angie b‘r contact with the material =
of the tube is close to 9¢°. S |

(B) Liquids that wet a.surface have contact angles greater than 90", L ' B

(C) Angle of contact of a liguid in a glass tube depends on its radius. P
Of the above statements, ' : ‘

b} v

(13 Only (A) and (B) are true. {2} Only (B) and (C) are true. - (3) Ojniy (C) and (A) are true, - Pj
shown in the figure. if the biock is stationary, then the magnitude of the force exerted on
the block by the wall is - v

 (4) all (A), (B) and (C) are true. (5) ali (A), (B) and (C) are false.
(1) 17N. 2) 13W. (3} 12N.  {(4) TN, (8) SN .
A bullet moving at 2 certain velﬁ'ﬁfy enters a weoden block suspended freely by 2 light inextensibie P
string, and gets embedded in the block.which of the followirg is true?. | : -
(1} Law of conservation of energy cannot be applied to this impact. |’
(2) Mechanica! energy is not conserved in this impact, : o :
(3) Law of conservation of linear momentum cannct be applied to this impact. oo FL
(4) . Total kinetic energyof the system is conserved in the impact. . - | : {
(5) Law of conservationt of linear momentum can be applied to this impact only if the buliet does
not penetrate the block. : ' . | \ L
A metal ball having a volume, 4.0 x 10 m’ floats at the interface of mercury (M) and | w g
water (W) with one half of the ball submergsd in, mercury as sl‘.’c;wr: in }.‘-u: ﬁgure. If the [ \
densities of mercury and water are 1.36 x 10° kg m" and 1.0x 10" kg m¢ respectively the o~ J !
weight of the ball in air is . '- T o S ' b
(1) 2.526 kg. (2) 2.720 kg. (3) 2.920 kg.- 4) 5360 kg (5) 5.5&0_-1@ .
n a compound microscope the objective produces a magnification of 1C, whije the eyepiece produces a'i

magnification of 15. The overall magnification ackieved by the compound mic'.nl}scope 'ls_‘ : o
) -—%- B @ @S @®as. o) s |

A beam of whitr.' light ‘without the green cclour appears red to huq\an ebae.whi'ch' of i.hle:_t‘oi.rl_nwing |

appara‘-:ué can be used to distinguish the above mentioned light beam from a pufe beam of red light 7 |

A) A concave mirror.  (B) A prism. (C) A spectromeer. -

@ (1} A Only. 2) ByOnlj,r. ) (3) C Only. (4) A and B|Only. (5) A and C Only.

b3 N i a1 mircors
Consider the following statements made about thin lenses and sp‘hmca. mirT “1 o .
(A) It is possible for a given lens to act as a converging lens in one rruac"uunI and as a diverging lens in

another medium. . R
(B) The focal length of a lens depends cn the medium in which it is immerseq. o
(C) The focal length of a spherical mirror depends on the medium in which it}is immersed.

"Of the above statements _ _ - p

(13 Only (A) is true. {2) Only (B) is true. | (3) Only (A) ?l'ld (B) are true.

4) Only (B) and (C) are true.  (5) Only (A) and (C) are true. o erial ds

if tlm( rldius gf curvature of an equi-convex iens is 30 cm and the refractive index of the iens ma

1.5, its focal length in air is ‘ ‘
(1y 7.5 ci. (@ 15cm. (3) 30cm. (4) .45 cmﬂ; m(c;‘»i)“Fj f:.r}air:is P
A sound wave traveiling in a fluid medium is reflected back at a barrier sO :,}; zm e the velocity ©
The distance between two consecutive nocdes ofthe standing wave 1S e
propagation of sound inthe fluid is 1 500 ms". The ﬁ_‘cquency of the seand:nxg ave !
(1) 160 x 10° Hz (2) 8.9 x 10" Hz. (3) 4.0 x 10" "Hz

@) 2.0 x 10° Hz. . (5) 1.0 x 10° Hz.

16
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' 'n.l sou f light i - y ' :

44. err‘: Jius o:‘r‘t:ﬁeulnrég ;Sr é:]laced] in water .8 m befow its surface. I the refractive index of water is n

o ircle at t ;_:: surface through which light can emerge frem the water is N
(1) —=— m. iy 1b o 0.8 . 1.5 _

Two tuning fork S S o S o

S R e o o e e esoency of e i
W : pr nly eats are heard in one second, !f the {requen i
fork B is 200 Hz,the frequency of the fork A afier sticking wax is frequency of the tuning

i T (1) 190Hz. | (2) 195Hz. (3) 200Hz. (4 205 Hz. (5) 210 Hz.
. The raius of the equipofential surface having a potential of 30 V due to 2 point charge of
15 x 10°Cis, (e =9 x 10" Nm' C?) e
4?’-“50 . ! .
(1 Jasm. () Jo5 m. ®fem . @ 25m

47. Three- particies P. Q anid R follow the paths as shown in the figure under the .
influence of an uniform |magnretic field which is directed into the paper.
Which of the followin} correctly indicates the type of charges carried by each

particle 7 P Q R
' {1) negative l ncutral - positive
) positive | neutral negative T
. (3) . neutral positive negative
(4) neutral | negative - positive .
o (5) positive | . negative neutral )
48. A long wire is bent into-a shape as shown in the figure . ' . _
_. without malking a contact at P. If the radius of the .
- captinn i d th throueh th TR i C i
circular section s R, an e current through the wire is I, , R _
the magnitude and diredtion of the magnetic flux density : 2’ i
. N = o
. - - —— =

at the centre C can be written-zs. '- 7 S
. | . . !

T ' ' P R
(1 —% (1 --:Flrj; } :-out of the paper @) —%" (1 “’1,_'J-,'-') - into-Tne paper
. . | . : . . .
_ H . [ . i { 5 T o
{3} —5‘-;{—- {1'1';11;;) . :into ‘:he; pap_eg ' (4) .—";—L‘R (H' 'ﬁ-} : out of the paper
- . {5) -%- [l+#) . out of the paper N — ARA— ey
= ' | PRI g - .
9.) The equivalent resistance between the poinis A and Y of the X —'l%_. Bn !‘:: o~

)
Y

following network is !

(1) 5R. (2) 4R~ (3) SR@ 2R
- ) R | 2 |
0. In the circuit shown & V ceil has a negligible internal
resistznce and the voltmeter V reads zero. C
The reading of the ammeter A of negligibie resistance wiil be*
(ry ¢ - (2) 0.05 A. (3) 0.1A. (& 06A.

(5) cannot be ca!cui‘aied from the given data.

Si, in the circuit 'sh-:iwn,tile': cell has a negligible internal rt?sistance‘and th_e f‘_JMM_i
~ " current through the cell is 1.0 A. When an additional resistance of 2 £2 is £ ,
inserted into the circuit “he current through the cell becomes 3.0 A. The L
value of R is o '
(1) 1002 {2) 8Q @3y 602 4) 4 0 .
5y 282 b :
52: The magnetic ‘fiux density (B) through a loop of wire
: as shown in the figure. the variation of the induced e
with time (2) is best rapreéi'ented by
. |

Ea . Ea&

| o :
1 |
s L 3

changes with time (1)
m.f. (E) in the loop
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=
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53.

54,

55.

56.

57.

58.

59.

69.

The sect mn of a circuit PQ absorbs 5 W of power when n current of 1,0 A'is
made to pass through it in the direction shown. If ihe internai resistance of] Pu_g....\,.m,. A E Q@
the battery is negligible, ith e.m.f, is A =

(n sV : (2) 4v. (3) SV Mzv. 1V )

Wiiich of the fol! owing arrangements of glass prisms will not converge the ba.lam of paralle! light shown?

O

The vessels A, B and C are filled with water up to the same ievei as shown inthe figure. All the vessels
navc identical base arca and miass. If the resultant forces acting on the boltoms of each of the vessels AT o
and C due to water are F,, Fy and Fg rcsacclwe.y and if the weights of the vessc!s with water when pu

on a scale are given by W,, W,, and W, respectively, then

(1) FA =FB = Fcand WA = WB + W¢ — )
(2) FA>FB >Fcand WA > WB > Wc — =

- (3) FA <FB <Fcand WA <WB <Wc ==
(4) FA =FB =Fcand WA <WB < Wc e -

(5) FA =FB = Fcand WA > WB > Wc¢
m an experiment to find the specific latent heat (L) of ice using the method of *n;xtur:s a student droppe
a large piece of wet ice without w:pmg out water on its surface in to a calorimeter containing water.a~
room temperature. During the experiment be observed a Iayel of mist fo'mcc on the outer - surface of thi 4
caiorimeter. He can expect a lower value for L
" (A) as the ice cube was wet.
(B) ss the ice- piece takes a considerable time to meit.
{C) due to the formation of mist.
. Of the above statemen '
(1) Only (A) is true. -~ (2) Oaly (B) istue. . .{3) Oniy (C) is true.
{(4) Only {A) and (B) are true. (5} all (A), (B) and {C; are true

Of the four figeres (A) tc (D) shown the total
electric flux leaving the closed surface § ls zero m /-\ 9 “\".j“
(1) {A) and (B} Only. | k_\_)
' . {A) .I

(2) (C) and (D} Only’
{(3) (B) an.ti {D) Only. (B) i
~ (4) (B), {C)and (D) Culy. (5) al! four cases. : ) . .
The ﬁgure shows three birds X,Y and Z sitting on bare wires of a circuit whlcl provides power to a iamn
the- power s pmwded by a bat‘tcry having a reasonably Iug,h vnltane M‘T Sisa .
SW.tC-h. ; ) 4:% ’@_ --
Canmde, the following sta‘tenents § _
" (A) When the switch is open the bird X is !.uaely to gel an electric shocx.
(B) When the switch'is closed the birc Y is likely to get an electric shock.
(C) When the switch is closed the hrd Zis hke!.y to get.an electric sl;ccz
Of the above statements .
'(i} .Only A s true. (2) Only B is true. (3) Cnly C 1s|tru:.
(4) Only A and B are true. (5} Only Band C are true

Two metre rui iers made of metal of linear exparsw ity 25. x 1¢° °'c| are —
calibrated at 0°C. One end of each of the metre rulers is fixed to a vertical alf. T
and held side by side lur.zomaxly as shown, "1 the figure. One ofihe metre -
rulers is maintained at °C and the other at 106°C which of the follow.ngl two ajihl,_lﬁmﬁumu;mm.a.u
scale markings of metre rulers cﬂmcuie with each other 7 i
{1) 25.0 cm and 25.1 cm. " (2) 24.9 cm and 25.0 cm. .
(3) 399 cmand 400 cm (4) 40.0 cm and 40.1 em 1(5)
" (5 80.0 cm and 79.9 cm. ra
Each of the two equal point chargcs of + q are placed along the x a:usIJ ata o g
distance d apart as shown in the figure. Assuming that the left ] hand charge is

r
I
|
'] E . [
l

Cat x = 0 the variation of the electric field intensity (E) with x is]best .

represented by E 4 E : B , EA&
_ - | \: — 2

- A i
! m | @ - | o) (4,

l (%
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